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1. 3T 2011 =7 fqumgsn defaevEhiid TewdTHe TaeRaHTd SV EET IHeER Hagd

HTAT 2
(1) 09 (2) Tsgad) FHIUY
(3) wISIT (4) TREES Fertuior E1

Which Party's candidate got elected for the legislative assembly recently in October
2011 from Khadak-Wasla constituency ?

(1) Congress (2) Rashtravadi Congress
3) BJP (4) Maharashtra Navanirman Sena

2. fooi Teusdtelt erigmeita frneal wmEntia g/l qurmuare & & FoarenR i ImeaH
TR hegl et ?
(1) § 2010  (2) ¥ 2010 (3) AW 2011 (4) &S 2011
When was the circular issued to start a special campaign to verify the attendance
of the students in the schools ?
(1) June 2010 (2) dJuly 2010
(3) August 2011 (4) September 2011

3. BuTE TSI T Foreh 2

(1) TR (2) sFQ (3) WIEEl (4) Afen
Which is the capital of Chattisgarh ?
(1) Raipur (2) Bankura (3) Malda (4) Nadia

4, Y YIG HITT MUETE T 3Teie Aigaisn 2011 & el T 2
(1) ST JSTON T . (2) TeErTE=AT R
(3) faemeff diae (4) "yl faemEmEE]

For what purpose did the people agitate in Andhra Pradesh in October 2011 by
obstructing railways ?

(1) Separate Telangana State  (2) Inflation

(3) Increase in students fees (1) Complete Development

5. WieT=al 12 = Y4 wa8a gaviuas shiomen et ?
(1) ft&H. 3w 2) °8 Hy (3) @t fogrt (1) fedvenr

Who received the goldmedal in 12t National Female Boxing competition in Oct.
20117

(1) P.T.Usha (2) MeriKom (3) Saniya Mirza (4) Decepika

HeoqT KIS AT/ SPACE FOR RQUGH WORK

P.T.O.
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6. 1SE 2011 9L FHIURAT TSATE TSI TSI AT FATeAt 2

(1) 3TY ¥ (2) aHiETg

(3) W (1) FRES

In which state was the presidential rule imposed on 15t June 2011 ?
(1) Andhra Pradesh - . (2) Tamilnadu

(3) Kerala (4) Zarkhand

7. HIVICAT IMA 42 S9TeAT GRANITEIE A1, 2011 Wedl {d AT ?

(1) T 2) T (3) = (4) ST
In which country did the 42 ycar dictatorialship come to an end in Oct. 2011 ?
(1) Libiya (2) Iran 3) Iraq (1) Germany

8. mifem fufrear wfaayuss srftfiam v aof o wrer 2

(1) 1992 (2) 1993 (3) 1994 (4) 1995
Prenatal Diagnostic Prohibition Act, was cnacted in
(1) 1992 (2) 1993 (3) 1994 (4) 1995

9. SN IT HI0CET S 0TI BT 2

(1) 9Ra-=H (2) HRA-ANTATRT

(3) WRA-UThIEAH (4) HRA-UTS

Kargil conflict was between which two countries ?

(1) India-China - : (2) India-Bangladesh
(3) India-Pakisthan (4) India-Nepal

10. IGEH=AH UTvATH] Sk v fSogara Tieel. 11 7ed gE el ?

(1) |raw @) T (3) HITETR (4) TR
In which district the farmers have started water Bank since Oct. 2011 ?
(1) Satara (2) Pune (3) Kolhapur (49) Nagpur

11, ‘T8e g feptar = wpmofi srard i sl 3R 2

(1) Tge e (2) TS 3R

(3) FSaofl UH. . (4) 37U &SR

In India who is demanding "Right to Recall" ?

(1) Rahul Gandhi (2) Raj Thakare
(3) Adwani L.K. (49) Anna Hazare

e HIHTATS! ATTT/SPACE FOR ROUGH WORK
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12. NEH=AT 9o 38 Hete qeNIadTe! Bodll hegl el ?

(1) 11 8<sK 2001 (2) 12 gLt 2001

(3) 25 AW 2001 (4) 26 gL 2001

When did the terrorists attack the World Trade Centre of America ?
(1) 11 September 2001 (2) 12 September 2001

(3) 25 September 2001 (1) 26 September 2001

13. 9@ 18 ¥ 1974 Uf ufegeft sl 13 et ?

(1) wRRISg (2) T5d

(3) HEANRY (4) TSI

Where did India carry out its first nuclear test on 18 May 1974 ?
(1) Maharashtra (2) Gujarat

(3) Madhya Pradesh () Rajasthan

14. G TCHETE TRTfh Fiaw fad shiorar 1 2
(1) 10d (2) 59
(3) 159 (1) 20
"International Environment Day" of the United Nations Organization is
celebrated on
(1) 10** June (2) 5P June
(3) 15" June (4) 20" Junc

15. 1992 A=Y ufeed) SIvTfrss a0 aityg 13 T~ gmeft 2

(1) st (2) SUE

(3) gheie (@) =

The first International Earth Council in 1992 was held at
(1) Brazil (2) Japan

(3) Newzealand (1) China

16. WRAlT TsasredT shivren feasfl wiieean it 2

(1) 26 iee. 1949 2) 26 fed. 1949
(3) 26 9. 1949 (4) 26T, 1950
On which day was the Indian Constitution got adopted ?
(1) 26 Nov. 1949 (2) 26 Dec. 1949
(3) 26 Jan. 1949 | (4) 26 Jan. 1950

HoedT SHIHTETS! TRTT/SPACE FOR ROUGH WORK
P.T.O.
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17. 2010 Te Fifa1 s=mE AEIATH Tl a¥ goi el ?
(1) 25 2) 15 (3) 50 (4) 30

How many years has the Narmada Bachav Andolan completed in 2010 ?
(1) 25 ) 15 (3) 50 (4) 30

18, weWde fumuiee 7 fod g emea ?

(1) 78 2) 77
(3) 76 (1) 79
How many members are there in Maharashtra legislative Council ?
(1) 78 @) 77
(3) 76 () 79

19. @reficiehl 13 =31 fod SR (2010-2015) STEA& 10 ARG ?
(1) 9. TREE (2) . faom Haa
(3) sf.am@. & =@ (4) oi.tg. =
Who among the following is the Chairperson of the 13" Finance Commission ?
(i.e. 2010 to 2015)
(1) C. Rangrajan (2) Dr. Vijay Kelkar
(3) Dr.Y.V.Reddy (4) Dr.S. Acharya

20. foeT TSR gEEAl SHivT TR ?

(1) ATeHETe Aned (2) INQ Iled

(3) Tcfier uw (1) TmfaemE TEaE
Who is the Chief Minister of Bihar State ?

(1) Laluprasad Yadav (2) Sharad Yadav

(3) Nitish Kumar (4) Ramvilas Paswan

21. TERTSE YT A fdeh SRM=A1 HgaT Gl S1eqef Hivl 3Tred ?

(1) 3.2 Okd (2) & Tk

(3) fammre #2 (4) w¥adq @

Who is the Chairperson of Drafting Committee of Maharashtra State Cultural
Policy ? o

(1) A.H.Salunkhe (2) Hari Narke

(3) Vinayak Mete (4) Harshavardhan Deshmukh

Fesd1 RIS ARM/SPACE FOR ROUGH WORK
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22. 2010 = “‘fir gfieed " fhare wivfl fresfaa 2

(1) fn 7w (2) g el

(3) Terra wRIEm () el =gt

Who achieved "Miss Universe" award in 2010 ?

(1) Jimena Navaret - (2) Yukta Mukhi

(3) Nikol Faria (1) Gifiti Emanual
23. R TENSIG UTeAT SRfavaTEid! ey TR

(1) g (2) IR @) (4) FTF

is famous for the production of footwear in Maharashtra.

(1) Satara (2) Kolhapur (3) Pune (4) Amravati
24, T AT qocish THIG TG,

(1) 34 2) =

(3) Tew=a artvsan (@) T o

The rich source of iron is

(1) Milk (2) Eggs

(3) Green leafy Vegetables (4) Beans
25. WERISCH fohel AT OREET SO HI0ATH ST 3TRd 2

(1) 03 (2) 05 3) 33 4 221

How many Nagar Panchayats are established in Maharashtra ?

(1) 03 (2) 05 (3) 33 4) 221
26. Wiiadh ‘R’ a1 FEE @ HIvT AR ?

(1) 3ITHE I (2) Tz Fa

(3) e e (4) wTEEE TR

Who amongst the following is the author of the novel, "Hindu" ?

(1) Anand Yadav (2) Narendra Jadhav

(3) Mohan Dharia (4) Bhalchandra Nemade
27. “‘smmEHHy’ | Tt el R,

(1) & (2) Fesie (3) Torehe (4) e

"Agakhan Cup" is associated with the game of

(1) Hockey (2) TFootball (3) Cricket (4) Golf

HEIT HIATETS! ARTT/SPACE FOR ROUGH WORK

P.T.O.
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28. I 2010 HEA HERTS ATV Y T T T rofiared we i
ElS|
(1) et (2) w7
(3) TEHI (1) HmErr

In July 2010, the construction of __ dam caused water dispute between

Maharashtra and Andhra Pradcesh.

(1) Tembhal (2) Babhah
(3) Pochampad (1) Shriram Sagar
29. SITYL IS Fehed VT UM TERMH ST H0TR 1R 2
(1) %™ (2) UM (3) TS (4) IR
Which country extended collaboration and support for establishing Jaitapur power
project ?
(1) France (2) Japan (3) LEngland (1) Amcrica

30. 2001 T SUET STEITATTHR FARIFTT ST HRATRIE SR TSI qoqd Herrsgrn fohaan
FHTF TR ?
(1) ufgen 2) e (3) g&u @) Fraa

Where is the State of Maharashtra placed in the country in urbanisation as per
2001 census ?

(1) First (2) Fourth (3) Second (4) Third

31. diea 7Ex21+31+]l:?
5 2 3 3

1 2 2
21— 20= 20—
1) 5 @ 21 3) 5 4) 3
Solve 7L2-><2-1-+3l+1-1—:?
5 w 3
1 2 2
21— y 2 3) 20— 20=
1) 9 2) 21 3) 5 ) 3
32. 13,25, 18, 63, 30, 78 IT T &. AT, 3Te.
(1) 40950 (2) 49050 (3) 4050 (4) 45059
LLCM of numbers 13, 25, 18, 63, 30, 78 1s
(1) 40950 (2) 49050 (3) 4050 (4) 45059
T RINTATS! ATT/SPACE FOR ROUGH WORK
4
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33. IATAT FHM U TYUIfeh T T @iefiel Temyd Faer.

231 1 6
A) 35D B) 288
111 1114
REVAERE P 533
(1) A 2) B 3) C 4) D
Choose the fractions which are in descending order.
2 31 1 486
A) 353 B) 28’8
111 111
9 133 D) 533
(1) A 2) B @) C 4) D
34. @rear x ®Ra1, 4/0.0625 005
— 00
(1) 0 (2) 125 3) 25 (4 5
Solve for x, +/0.0625
—_— =0.05
X
@ 0 @) 125 (3) 25 @) 5

35. SRA:B=3: 430 B:C = 5:6 & A:C sUR feft 2

(1) 5:8 2) 1.2
(3) 3:8 4) 5:9
If A:B=3:4 and B:C = 5:6 then A:C is equal to
(1) 5:8 (2) 1:2
(3) 3:8 (4) 59

36. e T TUERY 46 U1 AR, Tft afedn IR et 45 U1 AR, T Ireen fvena fRedt o

et 2

(1) 50 2 1

(3) 10 ) 12.5

The average of 5 results is 46 and that of the first four is 45, what is the score of the
fifth result ? ' :

(1) 50 2 1

(3) 10 (4 125

HEEAT KT ART/SPACE FOR ROUGH WORK
P.T.O.
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37. WHI 150 H. S ATFIEAT 450 H). AT Wi HTH-2 3R IR F0A1 HRET 20 Hehg ARTAT-R 1
TR Tt #/A . fehef) 2
(1) 30A. (2) 96 ¥Hya. (3) 22.5 WA (4) 45 4.
A train 150 meters long takes 20 second to cross a platform 450 meters long. What
1s the speed of the train in meters per second ?
(1) 30m/sec. (2) 96 m/sec. .(3) 22.5 m/sec. (4) 45 m/sec.
38. Wil 37 HifcTohd hIVIAT 376 17 3% I1ehd ATET ?
2, 3,6, 15,45, 135, 630
(1) 6 2) 15 (3) 2 @) 45
Find out the number which does not fit in the following series.
2, 3,6, 15,45, 135, 630
(1) 6 (2) 15 3) 2 (4) 45
39. SR CANCELLED = 27 a1t POSTPONEMENT = 36 ® REVIVE = ?
(1) 6 2) 12 (3) 15 4) 18
If CANCELLED = 27 and POSTPONEMENT = 36 then REVIVE =?
1) 6 ) 12 (3) 15 (4) 18
40. Teie isaTa ST JTATEEd HEA I Y6 IR B, IR BIOTRAT Y168 A fraTa weate
frae.
NVESU, TERAH, NOMO, RASM
(1) NVESU (2) TERAH (3) NOMO (4) RASM
Rearrange letters in the following words and to give them meaning and then find
the odd man out.
NVESU, TERAH, NOMO, RASM
(1) NVESU (2) TERAH (3) NOMO (4) RASM
41. SR LONDON fafgarmt HPOEPO 31 fodia 31 @ DVOHSZ %™ g3ifad ?

(1) MEXICO (2) ISLAND

(3) HOLAND (49 HUNGRY

In a certain code '"LONDON' is written as 'HPOEPO' then which of the following
words is written as 'DVOHSZ'?

(1) MEXICO (2) ISLLAND

(3) HOLAND (1) HUNGRY

HTT RIATETS! ATT/SPACE FOR ROUGH WORK
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42. & gEer 99w R smh 9 wig fes.
1 ? ' g I Ry f P
[ [::‘3 e e
A B C D 1 2 8 4
1) 3 (2) 4 @) 1 “4) 2
Choose the missing figure in the series.
—| ? 5’ 5 = 5 E
" 5 o 5 1 2 3 4
1) 3 @) 4 3) 1 4) 2
43. IS S 4 AR B AR 750 T A R, wew d29 vt 9 arerar Wew g e Feeten
g A7 g 70 B M. 7 55 R A, arell oR. W S meEn wERw Rt aTTaT S 2
(1) 3. 2.30 TS (2) GRS 4,15 FISIAT
(3) 3. 3.00 TSl (1) 3. 2.45 TS
Suppose the distance between Mumbai and Nagpur is 750 k.m. At a time both
trains start at 9.00 a.m. from the opposite sides one at a speed of 70 k.m. and the
other at 55 k.m. per hour, then at what time will these traims meet each other ?
(1) 2.30p.m. (2) 4.15a.m.
(3) 3.00p.m. (4) 2.45p.m.
44, SR JA G TONER 53125 9 00T 25 3R W wala Tem wEan S 2

(1) 425 ' (2) 625
(3 75 (4) 125
If the product of two figures is 53125 and G.C.D is 25 then which is the smallest figure ?
(1) 425 (2) 625
(3 75 (4) 125

HodT SHITTATE! ARTT/SPACE FOR ROUGH WORK

P.T.O.
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45.

12 A
T (b3 +b%)(b? —8b)=b5+mb4——%+n T m d n A7 FRwe! w1 & ?
(1) 1,3 2 -3-1
3 -1,3 4) -31

If b7 +b%)(b* -3b) =b® +mb* ——§+n then what are the values of m and n ?

1 1,3 @2 -3, -1
3 -1,3 (4) -3,1

46.

Tl fectear sTquiiehmed Tt TTg 3TqUlish ehivrar ? 38 | 33, 25 29

9 8 6 7
@ 25 2 38

6 9
3) 33 4 29

8 7

Which is the smallest fraction in the following sequence ?
38,33, 25, 29

9 8 6 7T
» 25 (2) 38
6 9
3) 33 ® 29
8 7

47.

THE FA 4 T ATRd AT a9 oS 122 99 3R, IEIA 9 YT AIHH T8 F et v
8 auft Wi I1ed YA 9 afsa=a surA e TR, W g 9 1 @ ?

(1) 18 =¥ (2) 15 a¥

(3 11 =¥ (4) 23 ¥

In a family there are four members. The sum of their ages is 122 years. If father

and son are older than mother and daughter by 8 years respectively and the age
of the son is half that of his father, what is the age of the daughter ?

(1) 18 years (2) 15 years
(3) 11 years (4) 23 years

Hoedl HIATATE! AR /SPACE FOR ROUGH WORK
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48. @?ﬁﬁéww@aﬁaAmﬁéMWW AR, B-a@ TaTH 01 AT AR o

C- {cdd Targ ST AT AR, foret TR o AR Yarg S o .

(1) 39 (2) 45 (3) 99 (4) 57

‘_—
+ 18 25
4

In the above figure A = the number of persons in service, B = number of persons
travelling by bus, C = number of persons travelling by railway. Find the number
of serving men that travel.

(1) 39 (2) 45 3) 99 (4) 57
49, wreht fedean w1 forer=a Srft O gl mam A lOOHOOATOATI?HO
(1) OwOA (2) O0wrA
(3) ODaAw (4 O a0
Complete the series A LFOOEROTA?OA???750
(1) ORDOA 2) 00w A
(3) OUA (4) Owyall
50. Wiclcdeh! shivrear NSk AT A 314 ?
12 -15 -21 +27
R Ty @ 38 36
-18 9 -16 3
® 5T @ T 12
Which of the following pairs has figures with the same value ?
1 12 -15 9 -21 +27
M -16" -60 2) 28 ' -36
~18 9 ~16 3
® B 36 @ Zer iz

HoeqT HIMTETS! IARTT/SPACE FOR ROUGH WORK

P.T.O.
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51. SIS S HEAT TN TR shl HT=AT I Foameh! 273 A7 T o7 HE&ATH! SRS 39 2 T 1 §&AT
HIvTeT ?
(1) 24,15 (2) 23,16 (3) 22,17 (4) 20,19
In which of the following pairs the difference of the squares of the constituents is
273 while the addition is 39 ?
(1) 24,15 (2) 23,16 3) 22,17 (4) 20,19

52. SR U1 9 auiean gE= feaeft foam aa @ = avtean e e aame 3 1 O e
FY A ?
1) e (2) n 3) t 4 r

If the second day of a leap year was sunday then which will be third letter of the
last day of the year ?

(1) e (2) n 3) t @ r

53. e SR SR THiFdTel! U UF T Tedsh SE G0 e 23 JTE He AFae!
e, T =T G TR forclt 12 oTael) o1Rd 2
(1) 92 (2) 90 (3) 94 4) 96
In a square shaped garden one tree 1s planted in cach corner of square and if on

each side of the square at equal intervals 23 trees are planted, then how many
trees are planted around the garden ?

(1) 92 ) 90 (3) 94 4) 96
54. @l e uefi=h foma foret a1R 2 (7.3+3.7)°
(7.3)* +(3.7)% +(7.4)(7.3)

(1) 121 2) 1.21 (3) 11 (4) 16.5

3
What is the value of the following ? (7.3 +§'7)

(7.3)% +(3.7)* +(7.4)(7.3)

(1) 121 2) 1.21 (3) 11 ) 16.5

55. 1,2, 3,4 2 3TF IIF IR ) G&d Tshard 910 HEA A=A Sdld =1 37k aed fadt 2
1) 16 2 24
(3) 18 (4) 22

With the figures 1, 2, 3, 4 (using 1, 2, 3 or 4 only once in any four digit figure), how
many four digit figures can be formed ?

1) 16 (2) 24
(3) 18 4) 22

THoedl HIFTHTE! WRTT/SPACE FOR ROUGH WORK
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56. Wcilel dacad « (Fagrean) St v i e|ea? 6 * 0 9
x 3 * 3 2
* 2 7 3
1« 5 1 4
1) 4 2) 7 (3) 6 (1) 8
Replace = with the appropriate figure ¢ * o 9
3 * 3 2
* 2 7 3
1= 5 1 4
(1) 4 2 7 3) 6 4) 8
57. A gy FEer 60+ 5%x12+ (180 +3) =
(1) 60 (2) 120
(3) 13 ) 61
Select the correct alternative 60 +5x12 +(180 +3) =
(1) 60 (2) 120
(3) 13 (4) 61

58. 'A' 1 IR fohwa B g e 400 TR S R, S A A’ 9 B fhma 784
FGA 3 /B A1 FEq] hma T 2
(1) T 200 (2) T 384
(3) % 300 (4) T192

Price of 'A' is more than price of 'B' by ¥ 400. If price of both 'A’ and 'B' together is
% 784, find the price of 'B’.

(1) X200 (2) ¥ 384

(3) %300 4) %192

59. Wearadm wl e  (05)°+0.6°
(05)% -(0.3)+(0.6)*

1 0.11 2) 0.33 " @) 1.1 ) 3.3
‘ 05°+0.6°

Solve and write the answer (0.5)2 0.3 +(0_6)2 .

(1) 0.11 (2) 0.33 (3) 1.1 4) 3.3

ool RIATETS FTT/SPACE FOR ROUGH WORK
P.T.O.
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60. I/ W@ FHagd wuarl Ui &0

bca ca ca
(1) aabbec (2) abbbe (38) aabcec (4) abbcc
Complete the series

bca ca ca —————
(1) aabbec (2) abbbe (3) aabcc (4) abbcc

61. T A=A T U9 75 €99@1 GE el 9 105 T9a9 faere ® w8 ford) 28 %1 2 2
(1) 100 % 2) 50 % (3) 40 % 4) 125 %

A trader purchased a pen for ¥ 75 and sold it for ¥ 105. What is the profit in
percentage ?

(1) 100% (2) 50 % 3) 40% 4 125%

62. S U oA 9 G GeATH! fhHd ¥ 48,250 TR @ 21 29 9 36 GeATd! Fehwa Tt 2
(1) 96,500 (2) ¥1,25500 (3) T1,44,750  (4) ¥70,250

The cost of 7 tables and 12 chairs is T 48,250. What is cost of 21 tables and 36
chairs ?

(1) 96,500 (2) ¥1,25,500 (3) ¥1,44,750 (4) 70,250

63. Gear9 Mg @iy fagr  ont! 4gn

’2n+4 _ 2n+1 -
2 3 1 5
W 2 @ 2 @ @ 3
2n+l +2n
Find the value of W:
2 3 1 5
M 3 @ 1 ® = @ 13

64. o i A, BT C Ut agaTd! SgmTEd! 91gg TF U STgEHE 12, 18 31 20 YeheTd qul &iard ™
it P 3 R sror i et 2
(1) 5. @) sfu. @) 12 @) 3
Three friends A, B and C jog around a circular stadium and complete one round

in 12, 18 and 20 seconds respectively. In how many minutes will all the three meet
again at the starting point ?

(1) 5 Min. (2) 8 Min. (3) 12 Min. (4) 3 Min.
HTT HTHTATST AWTT/SPACE FOR ROUGH WORK
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(1) 144 (2) 97 (3) 105 (4) 92

Find the alternative

%

(1) 144 2) 97 (3) 105 (4) 92

66.

U1 Tyt qEd SR ITEe g 1T firesara & g Sttt e o7 i il SR TR SHeaRH
30 9% diegT 30 V1 fresdial TR @ ferel) w1 s v 2

(1) 30 (2) 15 (3) 25 4) 20

In a competitive examination correct answer fetches 2 marks and for every wrong

answer one mark is deducted. If a candidate solves 30 questions and gets 30 marks
then how many correct questions he must have solved ?

(1) 30 (2) 15 (3) 25 (4) 20

67.

KL

O
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68. a1 TS ST (HTEF) 9 W I U 5:4 78 S AT 3@ T 18,000 30 X =l g
(1) 3,600 (2) 3,200 (3) ¥ 14,400 (4) ¥ 2,000

Income and expenditure of a person are in the ratio of 5: 4. If income of the person
18 ¥18,000 then his saving is

(1) 3,600 (2) 3,200 3) ¥ 14,400 (4) 2,000

69. 100 T x 80 Hi AT AR TR, HEATT F T hel, Th TIHH GHR d GHU F16 FARR ST
T & 2 Hl o8 W §6 T S9%e foRdt 2

(1) 324 #i.2 (2) 3602
(3) 344 .2 (4) 356 1.2
There is rectangular garden of dimensions 100 m x 80 m. Two roads are laid

runnning midway in the garden, one parallel to the length and the other parallel
to the breadth. What is total area of the road if the width of the road is 2 meters ?

(1) 324 m? (2) 360 m?2
(3) 344 m? v (4) 356 m?

70. 1,2, 3, 4, 5 IT SRR 3 Jeh! Tond He&aT il ST TshTa aiiel 379 TehT Uall SR dest
Ao 1 2 |

(1) 10 ) 20 (3) 9 4) 16

How many two digit numbers can be formed using the digits 1, 2, 3, 4, 5 if no digit
occurs more than once in each number ?

(1) 10 2) 20 3) 9 4) 16
71, 1% 1960 U werseTa e 2.

(1) 26 ) 29 (3) 35 ) 23

There were districts in Maharashtra on 15t May 1960.

(1) 26 ) 29 (3) 35 (4) 23
72, ‘HES TS A1 g TSAT ST TSft Fredl,

(1) 1% 1960 (2) 1T=2. 1956

(3) 1%M. 1950 (4) 15 T 1947

The bilingual state ‘Mumbai' was formed on

(1) 1 May1960 (2) 1 Nov. 1956

(3) 1Jan. 1950 (4) 15 Aug. 1947

el HIATETS! ART/SPACE FOR ROUGH WORK
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73. 193 1998 sk 1 ez fasm svar o1,
(1) IWETERE 2) U4B
(3) wwoft (4) ¥ER
district was divided on 15! July 1998.
(1) Osmanabad (2) Dhule
(3) Parbhani (4) Bhandara
74, WERSCRAT I RyAR FHorh udam g 2
(1) | (2) qmge (3) STETETE (4) F=R
Which mountain range is found on the northern border of Maharashtra ?
(1) Satmala (2) Satpura (3) Balaghat (4) Sahyadri
75. T FhT Hore Rrer sRmEd Rieeardie gats e o 2
(1) ATe (2) T
(3) T (4) e
Which of the following peaks is the highest peak in Amarawati district ?
(1) Vairat (2) Astambha
(3) Hanuman (4) Taula
76. iU TEIHH 3.
(1) #RS (2) foww (3) & (4) ¥
The climate in Konkan region is
(1) Dry (2) Extreme (3) Equable (4) Cool
77. WAIAYh! FHIVd 9T g S0 TragST yda U esd ¢
(1) orEe 2) fraeen
(3) TEERT (4) HIERM
Which of the following hill stations is located in the Satpuda mountain range ?
(1) Lonawala (2) Chikhaldara
(3) Mahabaleshwar (4) Matheran
78, TEWISE TSI for Y. eriefien @) frar wven TR,
(1) 720 (2) 730 (3) 740 (4) 750
Maharashtra State has Kms of coastal line.
1) 720 (2) 730 (3) 740 () 750

HeedT HIHTETE] ARM/SPACE FOR ROUGH WORK
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79. ¥l S Fon o i T Sefaes TR,
(1) oY wered 2) o=y seme
(3) Hraget (4) HEWEBT 33T

hill range is waterdivider of Krishna and Bhima river.

(1) Shambhu Mahadeo (2) Harishchandra Balaghat
(3) Satpuda (4) Satmala Ajantha

80. WERTIG Tdid W3\ el Jorref! AR,
(1) s (2) MeEd
(3) (4) T
The biggest river system in Maharashtra is
(1) Bhima (2) Godavari
(3) Krishna (4) Vain Ganga

81. hct [ FIESTd HERTHEA IVl JhT IS TSl 7
(1) = (2) T
(3) wfde (4) o &
Which type of rainfall does Maharashtra receive during SW Monsoons ?
(1) Cyclonic (2) Conventional
(3) Orographic (4) Pre-monsoon

82. WHIch! ShivraT fSegT qedt a aeraren forest v Neswen sl ?
(1) Figg 2) ¥em
(3) @@ (4) HTg
Which of the following districts is known as the district of lakes and tanks ?
(1) Sindhudurg (2) Bhandara
(3) Satara (4) Solapur

83. I OIS ST 1 A1E NSGET S,
(1) Re@TR (2) 9Ed G
(3) I@ IR (4) 1Y AR
Koyna dam reservior is known as
(1) Shiv Sagar (2) Vasant Sagar
(3) Sharad Sagar - (4) Nath Sagar

Hoedl SV WHT/SPACE FOR ROUGH WORK
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84. TEWISCA Tl i TARGTATA & 1 fagema TR
(1) fagst (2) Hiwu
(3) WSaTET (4) TRiws
region has lowest area under forests in Maharashtra.
(1) Vidarbha (2) Konkan
(3) Marathwada (4) Nasik
85. WERISI=AT USRI a1 fged.
(1) &ged (2) dTEHHE
(3) FrE (4) wmf
The soil 1s found in the Maharashtra plateau region.
(1) Saulty (2) Sandy
(3) Black (49) Jambhi/Laterite
86. TERISIG Tald & TRl TG HRGH Fregama sngesan.
(1) T (2) IFTEHETR
(3) SITeAT (4) ImEd]
Maximum number of Co-operative sugar industries are found in
district in Maharashtra.
(1) Solapur (2) Ahmednagar
(3) Jalana (4) Amaravati
87. dere ArESETE 71 SieeT TR Imr o1,
(1) | (2) IR (3) S&TE (4) ITTETg
district of Maharashtra is the leading cultivator of seasum.
(1) Solapur (2) Kolhapur (3) Jalgaon (4) Aurangabad
88. RN 39 @RS dd e,
(1) ITeFHers (2) S ™
(3) famitg (4) feramamaeea
Mineral oil is found at in Maharashtra.
(1) Ankaleshwar (2) Bombay-High
(3) Digboi (4) Vishakha Pattanam
89. TR AR 5 ISR
(1) Te (2) 3 (3) = @
Tarapur Atomic centre is in the district
(1) Raigad (2) Thane (3) Nashik (4) Pune

HoedT RIATETS! ARTT/SPACE FOR ROUGH WORK
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90. WENE gatd i elerEEan 1 Rregama TR,
(1) =ER (2) Tl
(3) et (4) IR
district has the lowest population in Maharashtra.
. (1) Chandrapur (2) Parbhani
(3) Gadchiroli (4) Latur
91, glwmmmmrﬁnﬁmw TR
(1) ufgem 2) gaa (3) fa=w (4) =hem
According to the 2001 census Maharashtra ranked in India in urban
population percentage.
(1) Tirst (2) Seccond (3) Third (4) Fourth
92. Wl v feramed T ARaEI= T qaiioed 3R ?
(1) FEHETR  (2) AR (3) SiETE (4) G
Which of the following districts has the largest rural population ?
(1) Ahmednagar (2) Nashik (3) Jalgaon (4) Solapur
93, m’m%wﬂaaﬁ?ﬁ awméﬂwémmmmmmmﬁ

TAATAR TEUIATA.
(1) aa-cﬁ-v} (2) 3T (3) HATARIY (4) a8 Yt wene e
When a person or a group of persons migrate within the country from one place to
another, it is known as ____migration,

(1) Forceful (2) Internal (3) International (4) None of the above

94, 2001 = SEVAIER e (TS Jo¥ AFHEH TSR FHI0T SEiiieh €.
(1) @At (2) T
(3) TEW (4) STI
According to the 2001 census, the highest migration of male population into
Maharashtra was from state.
(1) Karnataka (2) Gujrat
(3) Madhya Pradesh (4) Uttar Pradesh
95. WERISIA W& IS ST heAT Sl
(1) 3ffsirs (2) ¥ (3) 9aH (4) afitE T

energy is primarily consumed in Maharashtra.
(1) Thermal (2) Atomic (3) Wind mill (4) Natural Gas

HTT HIATATS AT/SPACE FOR ROUGH WORK
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96. iVl {ed AFTTaRIS Hald 39 g a1 el SievaTg e 3R,
(1) "HE (2) TG (3) THTR (4) TRl
The tallest bridge along Konkan Railway route has been built at
(1) Pomendi (2) Kurbude (3) Panwal (4) Ratnagiri
97. 2008-09 7T ATHSARITEAR o T (frefiae ot are) gata
a1 fSegand € sreten maas?g T )
(1) Fieh (2) e (3) TEEN (4) IEAIETE
district has lowest utilisation of domestic electricity (per capita
per hour in K.V.) as per the 2008-09 data.
(1) Hingoli (2) Jalna (3) Nandurbar (4) Osmanabad
98. ggravl Rreeama s,
(1) TR (2) MR
3) T (4) S
Pullar caves are found in district.
(1) Aurangabad (2) Nagpur
(3) Raigad (4) Jalgaon
99, U= ST HOUT AT FTEAT WIHTET TR IR,
(1) *Ts (2) Teg
(3) Mg (4) FhEEe
is situated on the confluence of Panchaganga and Krishna rivers.
(1) Karad (2) Pandharpur
(3) Audumber (4) Nrusinhawadi
100. TN R HERTSeTe shiviea fSiegara fea ame 7
(1) 3Rl (2) g (3) afkm (4) femed
The fort Narnala is located in the district of Maharashtra.
(1) Akola (2) Buldhana (3) Washim (4) Hingoli
101. SRV TohRAT STaEed B sieh &3 ST Wiert &3 I gaeifedea 7wd ?

(1) THEE! (2) eIt

(3) WAl 4) fum

In which type of economy there is a co-existence of public sector and private sector ?
(1) Socialist (2) Capitalist

(3) Communist (4) Mixed

FHod HIHHTE! ANT/SPACE FOR ROUGH WORK
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102. 9RaTa P desrn I usd fosrra aityesn stegst sior tEar ?
(1) ST Tsgelt (2) G
(3) AT SYUSTA! (1) fore st
Who is the President of the Planning Commission and the National Development
Council in India ?
(1) President of India (2) Prime Minister
(3) Vice-President of India (4) Finance Minister
103. WRATA TGS hivTd! TeheqT femd Sdef! s ?
(1) Fraer afem (2) I giea
(3) WM TG (4) Icafae TiGE
Which concept of poverty is considered in India ?
(1) Absolute Poverty (2) Augmentea Poverty
(3) Relative Poverty (4) Ultra Poverty
104, TR d=ETe IS WeleTush! IV ST STIHH QUaTd STel ?
(1) 3frefie &= (2) ot &=
(3) aT & (4) foeft &
Which of the following sectors was given priority in the First Five Year Plan ?
(1) Industrial sector (2) Agricultural sector
(3) Service sector (4) Foreign sector
105. VST et ASH= Sade 1o 3R 7
(1) . IvEaag a8 (2) . sRTE T T
(3) #M.f3.9. om (4) . ag4a g1 U
Who is the promoter of the Employment Guarantee Scheme ?
(1) Shri Yashwantrao Chavan (2) Shri Shankarrao Chavan
(3) ShriV.S. Page (4) Shri Vasant Dada Patil
106. @Iciicyen S srermad faisH geien sread |m fiewe Al ?

(1) 1951-56 (2) 1961-66
(3) 1966-69 (4) 1969-72
Which of the following periods is known as the plan holiday ?
(1) 1951-56 (2) 1961-66
(3) 1966-69 (4) 1969-72

Hoed! HINTATST IWM/SPACE FOR ROUGH WORK
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107. TSft TERTSTA TSTR 841 Sh1IaT TR F0aTa ST,
(1) 26 SHaRl 1979
(2) 26 SHERT 1980
(3) 26 IHaRl 1990
(4) 26 SHER 1995

Employment Guarantee Act was implemented in Maharashtra on
(1) 26 January 1979
(2) 26 January 1980
(3) 26 January 1990
(4) 26 January 1995

108. 'Planning and the Poor' I1¥9T= &i@%h R4,
(1) s f3. 7. g (2) <. 3w 89
(3) oI« . firem (4) o 9. o). geeREE
The author of the book 'Planning and the Poor' is
(1) Dr.V.M. Dandekar (2) Dr. Amartya Sen
(3) Dr.B.S.Minhas - (4) Dr.P.C. Mahalnobis
109. st Rmia Scameehar SAEE! Y 3T PR e TSR] 318 TR0,
(1) gt ST (2) et stseTd
(3) g SU=Tm C(4) g SUsd
When marginal productivity of the working people is zero it is called
unemployment.
(1) Disguised unemployment (2) Seasonal unemployment
(3) Under employment (4) Open unemployment
110. 1 AT FTeTa i Tioast 10 7.6, Term g 3fese 33 1w At mida vamd arredl,
(1) grad JSHT (2) e AT
(3) el AT (4) e IS
The Gupta Committee was constituted with the objective of targeting 10 million
job opportunities per year overthe _ plan period.
(1) Seventh plan (2) Eighth plan
(3) Ninth plan (4) Tenth plan

Hoeql RIATETS! AWT/SPACE FOR ROUGH WORK
P.T.O.
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111. U T UsPTR g1 et st 7Edfieata StTe.
(1) 2 Hgarl 2006 (2) 12 wgart 2007
(3) 2 HFAR 2008 (4) 22 HgaRI 2009
National Rural Employment Guarantee Act NREGA) came into force on
(1) 2 February 2006 (2) 12 February 2007
(3) 2 February 2008 (4) 22 February 2009

112, 9RAR AT Qe v &7 SeTe a8 AR 7
(1) wfiew (2) Tl
(3) @an (4) I
Which sector is the fastest growing sector of the Indian economy at present ?
(1) Primary (2) Secondary
(3) Service (4) External

113, &S ARNTAT STEATATIER Y& ! i fesuT=a AT Wi o]

SiEYETe Jam.
(1) 2100 (2) 2400 (3) 2800 (4) 3200
As per the Planning Commission Report people in rural area are considered below
poverty line if they receive lessthan ___ calories.
(1) 2100 (2) 2400 (3) 2800 (4) 3200

114. T giye=h ardio e wige’ &1 wEwE T gafaa.
(1) <. e (2) .U 9. S, egA A
(3) . USia men (4) et gten meh
Provision of Urban Amenities in Rural Areas (PURA) programme was suggested by
(1) Dr. Manmohan Singh (2) Dr.A.P.J. Abdul Kalam
(3) Mr. Rajiv Gandhi (4) Mrs. Indira Gandhi

115. 2000-01 =1 SR GHHEA TMHIGT ASd WTefIerieh] HImen TaEs Fegar 7

(1) IR ) i o

(3) fuogr qrof (4) Taegdie

Which of the following is not included in Pradhan Mantri Gramodaya Yojana
introduced in budget 2000-01 ?

(1) Health ‘ (2) Primary education

(3) Drinking water (4) Electrification

HTT HIHTATE! WRT/SPACE FOR ROUGH WORK
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116. d=gaea=n ffay g 39T wrlemar aefavamE R smed T wueld WeR geen
HYorelt ?
(1) 3feam werehiea f.
(2) Ueiferem HigrdyH fad srafieeE
(3) Tegeem W far.
(4) FESA gHTITER Ll
Which is a national government agency engaged in promoting energy efficiency
in various sectors of the economy ?
(1) Indian Petrochemical L.td.
(2) Petroleum Conservation Research Association
(3) Hindusthan Petrochemical Ltd.
(4) National Thermo Power Company

117. QTG Gaid @ STaqehi=n d1t Hvar 38 7

(1) 2) @

(3) s (4) T
Which is the cheapest mode of transport in India ?
(1) Road (2) Railway

(8) Water (4) Air

118. TIBUERY ST Gatd W WL v AR 7

(1) T (2) Mean

3) T | (4) FHm 39T

What is the most advanced medium of the communication sector ?
(1) Television (2) Radio

(38) Post (4) Satellite

119. 3, 3% § Fam amEtetE Tieier v e sedear gayg memed fem aaef s 7
(1) TRragor (2) umft
(3) T (4) Jag
Which of the following is considered as a basic need of the man alongwith food,
clothings and shelter ?
(1) Education (2) Water
(3) Rest (4) Journey

THeed1 TWIATATS! ATM/SPACE FOR ROUGH WORK
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120. GESH &aTdie 31 Jehed e ShivTed] aaTun faehfda el wa 3ted ?
(1) %1 T
(2) AT T AT AT A
(3) ST, ST ST gATadd il axd
(4) Hmwid @4 T
On which principle, at present many of the projects in public sector are being
developed ?
(1) Profit principle
(2) No profit No loss principle
(3) Built, Operate and Transfer principle
(4) Marginal cost principle

121. WRATA IV &F74 foewl Tearer Jaavs gatd S o1 7

(1) TosUTgasul (2) 9P

(3) TeA T WieA (4) =t

Which sector has the most foreign direct investment in India ?
(1) Communication (2) Transport

(3) Hotel and Tourism (4) Energy

122. TR kT & shivrean SR viad] AR 7

(1) =N (2) TR

(3) IR (4) IR

Which type of energy is the solar energy ?

(1) Commercial (2) Non commercial

(3) Non conventional (4) Conventional

123. 3EQ WIS AiraEm s i i 2N R Ui 2efiety gt 1994 3 uw 3fge

Bl

(1) 500 (2) 1,500

(3) 2,500 (4) 5,000

National Telecom. Policy 1994 had the objective of the Public Call Office (PCO)
for every persons in the urban areas.

(1) 500 (2) 1,500

(3) 2,500 (4) 5,000

HTedl HIATATST WRTT/SPACE FOR ROUGH WORK
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124. hrrda udim @i gmus Fg whifaeh afis g aegm s il S 7
(1) g . €. w. (2) . &, b .
(3) fi. T o™ . (4) 1. . i .

Which organisation has entered in to an agreement of collaboration with the
National Mining Research Centre Skochinsky Institute of mining in Russia ?

(1) HP.C.L. (2) N.T.P.C.
(3) GAILL (4) ON.G.C.
125. AT GaquH ‘SETEETd Yt U St Ja-fientor i Ush g e,
(1) 13 f&8@= 2001 (2) 31 fedsw 2002
(3) 01 feds 2004 (4) 03 f&dsw 2005

The Prime Minister of India launched the 'Jawaharlal Nehru National Urban
Renewal Mission' (JNNURM) on

(1) 13 December, 2001 (2) 31 December, 2002
(3) 01 December, 2004 (49) 03 December, 2005

126. Geficreh! e s oAy @5y T ?
(1) @ Fawror T
(2) a&g TWEE Thwg
(3) a1 AR gitwg
(@) foew medt widt ufme
Which of the following is not related with the WTO ?
(1) Dispute settlement mechanism
(2) The council for trade in goods |
(3) The council for trade in services

(4) The council for foreign aid

127. @i RUS I WS Hiereh! Tenfud e 8.
(1) Gl aeEhR (2) HESE AR
(3) T W (4) IR THE A

Privatisation means private ownership in
(1) Privately owned industry (2) Publicly owned industry
(3) Jointly owned industry (4) None of these

FHoAT HITETE AWT/SPACE FOR ROUGH WORK
. P.T.O.
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128. =i\ sfeifie v RIRECNI ISR ETLRICRCI
(1) 15§, 1948 (2) 153, 1956
(3) 24 e, 1981 (4) 243, 1991
The New Industrial Policy was announced on ___
(1) July 15, 1948 (2) dJuly 15, 1956
(3) July 24, 1981 (1) July 24, 1991
129. SITIet shIOTeT <A1 @leh i * SRTfieh saTIR Heed=h’’ wamea el 31me ?

(1) SuH (2) Te (3) =\ (4) amf
Which country in the world has taken initiative in the establishment of the "World Trade
Organisation" ?
(1) Japan 2 UK (3) China (4 US.A.

130. e snfdfer eRomarg soren sEnmEd s ared e IR 7
(1) T (2) JaWm e
(3) wreae! g (1) wEFr
In which industry, disinvestment is increasing since the implementation of the
"New Economic Policy" ?
(1) Government (2) Consumer goods
(3) Capital goods (1) Co-operative

131. 9ra “‘SrTfas SR g’ aareg sivredt aYff g ?
(1) 1991 ‘ (2) 1995
(3) 1998 (4) 2000
When did Tndia become a member of the "World Trade Organisation" ?
1) 1991 (2) 1995
(3) 1998 (4) 2000

132. Tl arfiier o ferepR ShearaTg HIvreT ST WS ared e TR 7
(1) Hehrdd (2) g
(3) w&Hl ORGIEEIEET

Privatisation of which sector is increasing from the adoption of the "New Economic
Policy" ?

(1) Co-operative B (2) dJoint

(3) Government (1) Public

Hoedl RIHTETE! AWT/SPACE FOR ROUGH WORK
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133. SRR e STefeaesadies i@ goaiunm i 7

(1) g et e are

@) T anftr S e

(3) FHIBAHT I TS

(4) G o 9 GrewHE Teidid 918

In which way the globalisation has affected the Indian Economy most ?
(1) Increase in population and illiteracy

(2) Increase in poverty and unemployment

(3) Increase in black money and inflation

(4) Increase in public debt and public expenditure

134, wHivrEr Arenfie @rona MRTP %/ & ST el ?

(1) 3Tenfiven aren, 1956

(2) Prenfie arer, 1970

(3) =frenfies arer, 1977

(4) r=nfes arer, 1991

By which industrial policy the MRTP Act was abolished ?
(1) Industrial Policy, 1956

(2) Industrial Policy, 1970

(3) Industrial Policy, 1977

(4) Industrial Policy, 1991

135, Tfeier YURUIGR RATA HIVIT JehTCoAT Tqavhlet S =iel fHesTel! TR 7
(1) foresht veae e
(2) TGS YA
(3) ot g
(4) rfaret wrdaieh JaevEs
Which type of investment has received a boost in India due to economic reforms ?
(1) Foreign Direct Investment
(2) Portfolio Investment
(3) Financial Investment

(4) NRI Investment
HTAT KIATETE! ARTT/SPACE FOR ROUGH WORK
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136. fRtfiveadwm ___ ®\.
() et rferiaReg 1 2 el o) T
(2) ¥t TR e el ST T
(3) o fie
(4) AR T qed
Foreign capital refers to the
(1) Investment made by foreigners in the country
(2) Investment made by residents abroad
(3) Outflow of the investment

(4) Gross value ofimport

137. wRaren Fafd=t @ gia #d i
(1) wraies Fafa a&ge Aecd ared TR
(2) UNUIER & AU M F=| FrTd IR Aed Ted 18
(3) oMRTTE: fla T Wee aTed TR
(4) IRUTNGR F SURATRE TITa AT SATIR=AT g2 %RE "eed 1)

The pattern of India's exports indicates that -

(1) Traditional items of exports are growing in importance
(2) Both traditional and non-traditional items of export are growing in importance
(3) Non-traditional items of export are growing in importance

(4) Neither traditional nor the non-traditional items of export have much of trade

significance
138. YA HIVICAT THT INIq TRATIT T SEITIRIY TR 3R 7

(1) 2005-06 (2) 2006-07

(3) 2007-08 (4) 2008-09

In which one of the following years India's negative trade balance was the
highest ?

(1) 2005-06 (2) 2006-07

(3) 2007-08 (4) 2008-09

TS HINTHTST AWTT/SPACE FOR ROUGH WORK
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139. emaTa-Fratd €Rome (2009-14) 2020 W Srfis =T ORI IRAET AR 3%
TWE FOITS T A9 g St o11e.
(1) 1T (2) 1.25 Toht
(3) 2.0 TFF (4) 3.28 TFH
EXIM Policy (2009-14) has set a broad objective of doubling India's share in
global merchandise trade by 2020 to
(1) 1percent (2) 1.25percent
(3) 2.0 percent (4) 3.28 per cent
140. T WTO =1 240 HaReh! gam Tew ? faswameiia 3w ot
(1) 3 gdEm @) o =gt
(3) W I (4) FTOIH THE AT
At present around of 150 WTO members are from developing
countries.
(1) Two third (2) Three fourth
(3) One third (4) None of the above
141, TERA Tl Y= wrrema (fradt) gt smeit e,
(1) 26 fed@=x 2004 (2) 1 ITRE 2004
(3) 19 T 1999 (4) 19HER 2005
The government promulgated the patent (third) amendment on
(1) December 26, 2004 (2) August 1, 2004
(3) April 19, 1999 (4) January 1, 2005
142. HIUET &M AR 1991 ¥ TLR 2006 I FTATaEq qaiftes I fduft faavps senfda seft ?

(1) Ham & (2) SN 3T
(3) @R (4) e IAN

Which sector has attracted highest FDI inflows during the period August 1991 to
September 2006 ?

(1) Service sector (2) Electrical equipments

(3) Telecommunication (4) Transportation industry

HTTIT HIHTETE! ART/SPACE FOR ROUGH WORK

P.T.O.
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143. &7 2009-10 1 B TRATHSA TR I Fordeft foavpn ESEIRIG
(1) 14,939 WA Sl (2) 22,461 Y BT
(3) 9,307 EIAH Sl (4) 22,697 A Sl
The total FDI in India during 2009-10 was
(1) $ 14,939 million (2) $22,461 million
3) $ 9,307 million (4) $ 22,697 million

144, 9 fadsft faavEs o
(1) focsht sHaaEEedwe feged arad [aaven
(2) fooel SraEEEYHed FeIed AN AavEh
(3) sum, gl 3nfor T Arefie e
(4) ORISR MEaa STEETa
FDI refers
(1) Long term real investment of a firm abroad
(2) Short term trade investment of a firm abroad
(3) Investment in bonds, securities and equities

(4) Non-transfer of capital with extension of business

145. |4 Y= AR STl U= SecteTa Gres] 7Y oA ATAT.
(1) R 9 (2) o T (3) a9 (1) i3 &
All trade distorting domestic support is placed in
(1) Amber box (2) Red box (3) Green box (4) Blue box

146. WA IMF § SIATfeR sehea WisaeTdiel SATdeT a1el weaTd fear AR,
(1) 39 fomy 0 @
(2) WA €9
(3)
(4) iR TEET Uit
India has paid its share of the capital to IMF and World Bank in the form of
(1) Non-negotiable special rupee securities
(2) Indian rupee
(3) Gold
(4) Gilt-edged-securities

Hoedl RIMTETS! SAFTT/SPACE FOR ROUGH WORK
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147, feh gl Jaaves wos
(1) Tereft Aiferienga weirg, g99TT 17T T < @
(2) TTEUEFER T ISTETEE TR HET
(3) fawma e Taav
(4) wigaeT=h ¥ AaH
Foreign portfolio investment means
(1) Buying bonds, equitics and sccurities by forcigners
(2) Investors migrate with their capital
(3) Direct investment in foreign country

(4) Direct investment of capital

148. el wigaw rES
(1) ferer =aTeret st foham sigaaTTe QRETE! Seyeiela Sieadr™ Ueh QRIIqd ga=d1 aumd
TYATA B
(2) 3 o firesfarvamadt dielerreti Figeeir Ueht JUIH GH=AT ST TR &)
(3) WeAW HRt=AT Migaael U SRTIqT E=1 S01d TAATR &0l
(4) Taeeh Ry semada san aeamen st wrfl o1

Hot money refers to

(1) Short-term capital movement from one country to another country seeking

either higher rate of interest or safety of capital

(2) Long-run capital movement [rom one country to another sceking higher rate of
interest

(3) Medium-term capital movement from one country to another

(4) Currency which is more in demand in the foreign exchange market

149. IR e FrTiceh siebefl “STevearst) sl Rrgeh!’ Tev SfiesEel Sd ?

(1) IDA (2) IMF

(3) IFC (4) s foeprg O

Which institution is known as 'Soft loan Window' of World Bank ?
(1) IDA (2) IMF

3) IFC (4) Indian Development Forum

HoeqT HINTHTS! AFTT/SPACE FOR ROUGH WORK
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150.

36

g faumrn feem &,
AR aavEh STRTTHR

1) TEFE Wiead HUIEdd gd a9 € FO
2) T[RRI VTR SE SUR T AR
3) w1 Yo AT T <o

4) IearereA el W frata sifEd seum

TN o faum st AR ?
(1) 1,394 (2 1,2afr3 (3) 1,294 (4) 2, 3 afor 4

Consider the following statements.

As per the Trade Related Investment measures

1) All restrictions on foreign capital companies are to be scrapped
2) No restrictions to be imposed on any area of investment

3) Import of raw material to be allowed

4) Export of part of output to be mandatory

Which of the above statements are correct ?
(1) 1,3and4 (2) 1,2and 3 3) 1,2and 4 4) 2,3and 4

151.

1950 TG F5 TR Heeel! w1 el 76 3y g X Hegarn e

(1) *EW q= AR 3R (2) wHl AT AR

(3) TGS 3R (4) TS YT TE WGt (trend) fwa T
The share of tax revenue in the total revenue receipts of the Central Government
since 1950 _

(1) hasremained constant (2) hasdeclined

(3) hasincreased ‘ (4) shows no clear trend

152.

Teflesh! v STe Fg qrredT i gaae
(1) 39 g TEiada &

(2) "R S

(3) THEA &

(4) FATH FIAL AR

Which of the following does not constitute a component of tax revenue for the
Central Government ?

(1) Tax on income and expenditure

(2) Tax on property

(3) Commodity taxes

(4) None of the above

HeT HIHTETE! ATTT/SPACE FOR ROUGH WORK
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153. 3.9. 2001-02 W& 3y TIHREAT THVT X IcUATd ATIe FHU=1 fewn fovd) grar ?
1) 63% (2) 37% (3) 58% (4) 42%
What was the share of indirect taxes in the gross tax revenue of the central
government in 2001-02 ?
(1) 63% @) 37% (3) 58% (4) 42%

154, g TR AN UsH TR ATeAT Th T HEgE eI i TRIGAT Qe e RRImEadTd &
gl (trend) ﬁ'@ﬁ{?ﬁ 7
(1) aredl 2) wedl
(3) =« (4) PR Ty feum A1
What is the trend in the relative share of Central Government in the combined
revenues of both the federal and state governments ?
(1) increasing (2) decreasing
(3) constant (4) no specific trend

155. g TR ATHRUN FEA M heredl F AEHARH TSI S0 Ao Fefl gt shioran sy

Hriesfe T HTed <at ¢
(1) TER HER A (2) TershieR st
(3) fora smm (4) IeTHRL TR

Which Commission sets guidelines for the devolution of tax revenue collected by
the Central Government to the states ?

(1) National Labour Commission (2) Sales Tax Commission
(3) Finance Commission (4) Income Tax Commission

156. THUAT ford STRIMTIER THUT X ARRNS Tl % Towa ohg THRA @a:aa 39T ¢
(1) 69.5% (2) 30.5% (3) 29.5% (4) 15.0%

According to the Eleventh Finance Commission , what percentage share in its
total tax collection is to be reatined by the Central Government ?

(1) 69.5% (2) 30.5% (3) 29.5% (4) 15.0%

157. hET=A1 ARTATE AT IV TSATAT 2005- 10 IT HIeTd Fara A arer esren ?
(1) SWIW (2) for
(3) 3Ny W (4) ufyem s
Which state has received the highest share from the total shareable revenue of
the Centre during 2005-10 ?
(1) U.P. (2) Bihar
(3) Andhra Pradesh (4) West Bengal

HTST RIATETS! ANT/SPACE FOR ROUGH WORK
P.T.O.
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158. @ESIHeE G ASHTETR e I AISHT et @e 78 Fiffeo F3eaT TR §& e 7
(1) 1987-88  (2) 1985-86  (3) 1991-92 (4) 2000-2001

Since which year is the public expenditurc being classified as plan & non-plan
expenditure ?

(1) 1987-88 (2) 1985-86 (3) 1991-92 (4) 2000-2001

159. ﬁaﬁawﬁaﬁwﬁnwﬁaﬁ@nﬁwﬁﬁa%mzow—waﬁ%ﬁﬁm?
(1) 22.0% (2) 28.0% (3) 65.0% (4) 70.0%

Of all the states' total liabilities what was the percentage share of internal debt in the
year 2009-10 ?

(1) 22.0% (2) 28.0% (3) 65.0% (4) 70.0%

160. WA HERIEAT gl ARSIHFTAA TR TSR 2 T QeI ?
(1) TR Td WY Hhere TRl FHerel TS
(2) GTER! SHT 9 TR @9 Tt qbred
(3) ST TeRuT TR
(4) = ¥ |d
According to the budget norms of the Government of Indian Central, Fiscal Deficit
indicates
(1) The total borrowing requirements of the Government from all sources
(2) The gap between Government receipts and Government expenditure

(3) True extent of borrowing
(4) All the three above

161. TouT HTE INIITEA “SETITRIT G AGd FHROT
(1) Wieae Teqe o1 Hedg] qeiuas] A0 el
(2) TEHS GTATE AR Faa
(3) TR TSehIN fire gid
(4) TR Focre! AT

For the last few years, there has been no overall budget deficit because

(1) The capital receipts are estimated exactly to cover the deficit in the revenue
account '

(2) The revenue account surplus is generated

(8) The Government is observing fiscal discipline
(4) None of the above

Heedl HINTFTE! ATTT/SPACE FOR ROUGH WORK
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162. wigaeh Fuflmed (megemed) & onfor s S’ @ axifad ?
(1) feeree dohehs Taael TRl “‘3fe e shorid
(2) TSR 100 feag= aerl ot td
(3) HARMAT T IHAA ThH] e
(4) IhTR A
What does borrowing and other receipts' under capital receipts refer to ?
(1) Government issue of adhoc treasury bills to RBI
(2) Government issue of 100 day treasury bills in the market

(3) The liabilities of Government payable to the public
(4) None of the above

163. sRreA o STRITTIER shaTean Toet Hegardid fordl T arer 81 Uey Wi fedt st ?
(1) 38.0% (2) 46.0%
(3) 37.0% ‘ (4) 42.0%
According to the 12" Finance Commission what percentage of the centre is gross
revenue 1s given over to the states ?
(1) 38.0% . (2) 46.0%
(3) 37.0% (4) 42.0%

164. Ra™=d 1989 & 2009 7N HIeTaefid drdsiien sheiien a1fish JEiet s gar ?
(1) 13.5% (2) 12.0%
(3) 18.0% 4) 17.0%
What is the annual compound rate of growth of public debt between 1989 and
2009 in India ? '
1) 13.5% (2) 12.0%
(3) 18.0% ) (4) 17.0%

165. 3.34. 2010-2011341 AT Srefaareurdicl STRTSIER 5 THTS T % 4 Idm’’ 7 arel
(@feta) et arer fordt 285 B 7

(1) 1.0% (2) 2.0% (3) 3.0% (4) 4.0%

What was estimated to be the percentage of external debt in the total debt and
liabilities of the Central Government in the budget-2010-2011 ?

(1) 1.0% (2) 2.0% (3) 3.0% (4) 4.0%

HoEAT HITATST ARTT/SPACE FOR ROUGH WORK
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166. sl SV (TEATIH) (ST AT &I 329 H 7
(1) +g THRA T GHRAT e @iie swei Waws
(2) 3 TR TR FSl FHT amﬁ
(3) TeRH T
(4) ST A=
What was the main ObJeCtIVG of the 'Debt Swap Scheme' ?
(1) To liquidate hlgh cost loans given by the Central Government to the States
(2) Toreduce the external debt of the Central Government
(3) Both the above
(4) None of the above

167. WA el TG SRS T Hehed IedTeT=A qaiid Wigaet! @aal e

(1) Gaq gaTen (2) 3=t Ufger

OIISRIEEICSI (4) FoTEl T G (trend) AT

In the past few years, capital expenditure as a percentage of GDP has been
(1) falling continuously (2) remained constant

(3) rising steadily (4) Showing no definite trend

168. @Wﬁﬁﬁmﬁﬂwwm?

(1) Terd stk T (2) TN ITHATET TH

S IIERIEC T (4) HEA IS F

Which of the following is not the non-tax revenue ?

(1) Profits of RBI (2) Profits of state enterprises
(3) Public borrowings (4) Central excise duty

169. WATE F FEUS
(1) TR Ii=aTdel TEmEn aree 9 wogT 36 3
(2) R Fafian s s st 3 T
(3) TN AT YRuaar sremas iy Toa
(4) A FHATE AT AR FHSEK 37

Redeemable debt means

(1) Government promises to pay at some future date

(2) Government does not promise to pay interest regularly
(3) Their maturity period is not fixed

(4) Society is burdened with such debts

HTSIT HIATETE! WARTT/SPACE FOR ROUGH WORK
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170. STRE TEHERA 2004 Fiehl WTIH FHelen Th i’ o e 3fes s/ 8id 7
(1) TSR Samerer) i srefuehes fraem srarde Tgd) ar] Fvar aHd Tries o
(2) TeIE] L SRRV TG FET HT0T
(3) STIRIE HL T FETOT HT0!
(4) TR H FYAHET TS H0
What was the main objective to appoint a Task Force in 2004 by the Government
of India ?

(1) To make recommendations for implementation of the Fiscal Responsibility and
Budgetary Management Act

(2) Toreform the Direct Tax Structure
(3) Toreform the Indirect Tax Structure

(4) To increase the total tax collection

171, 77 e auidiel g Geh=a1 Rt sl Taidier Tatd Hid) ae sior ?
(1) =T arat 2) wargE (§)
(3) TSI TIHWHT FITH (4) G TH
In the past few years, which component has been the single largest item of non-
plan expenditure of the Central Government ?
(1) Interest payment (2) Subsidies
(3) Grants to states (4) Defence expenditure

172. 13 =1 fa STRTT=AT A WIESIHeh el 31101 URvT Hohel SATE ATd AT T 7
(1) 68% (2) 65% (3) 73% (4) 56%

What is the debt GDP ratio according to the 13th Finance Commission ?
(1) 68% (2) 65% (3) 73% (4) 56%

173. GidSt{es Gutd Siftreteh! AT TResiehar SIS BTehRA Ui sie™ass (outcome budget)

Bl TeheHT FHUEd ¢ hefl ?
(1) 2005-06 (2) 2003-04
(3) 1991-92 (4) 2008-09

When was the concept of 'outcome budget' introduced by the Government in order
to ensure accountablility and trasparency in public spending ?

(1) 2005-06 (2) 2003-04
(3) 1991-92 | (4) 2008-09

HET HINTETE! ARMT/SPACE FOR ROUGH WORK
, P.T.O.
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174, G TIhieRasi! shivrar st TR e ?
(1) =&
(2) ST 3cq1eH Yhesh
(3) “hisa fasht o
(4 e
Which tax was introduced by the Government in place of sales tax ?
(1) VAT '
(2) State excise duties
(3) The Central Sales Tax
(4) Customs duties

175. RS TSATdE TG @ F0TETe] STRUeT fox AR gataeiedT TkgaR L 3oe faamoine
T TSI SUaTd el ahladien Quamd 3Tfeiel Hed @iciiel Ta diefael

(1) 60% to62.5% (2) 62.5% to 656%
(3) 10% to 20% (4) 20% to 25%
To alleviate poverty in the poorer states the Eleventh Finance Commission

recommended the devolution of taxes by increasing the weightage in percapita-
income from

(1) 60% to 62.5% (2) 62.5% to 65%
(3) 10% to 20% (4) 20% to 25%
176. 3-BeT RATR, IR Gefium HR@TER a9 T W T Bl
(1) [FH 420 A=A H (2) |HWH 418 Al
(3) VWM 421 @A H (4) BFH 500 . H
Under what section is an K-mail abuse a cyber crime ?
(1) Section 420 IPC (2) Section 418 IPC
(3) Section 421 IPC (4) Secction 500 IPC
177. TR AR foht @ yrda sefaem wrra TER T[T Bl
(1) 420 A= 491.4. (2) 418 JA=.H1HI.
(3) Iy i (4) 500 . 1.H.
Online sale of arms is a crime under section
(1) 420 IPC (2) 418 IPC
(3) Arms Act (4) 500 IPC

T RTATATS! AW/ SPACE FOR ROUGH WORK
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178. furdrn < uftrn & gean swymnd) SR o 7
(1) TR TEFE BEe gaEEIEEd qREta
(2) HTER JEM
(3) TR IaAM
(4) 3T =M
Media Lab Asia is working for
(1) To bring benefits of ICT to common man
(2) Sugar Industry
(3) Alcohol Industry
(4) Ethanol Industry

179. SAFA R U3 hivedT e 913l aar e 311 ?

(1) R 19T
(2) 19

ROR:
(4) Fdeh] THe ATE
SAFA 1s a software for persons.
(1) Mentally retarded
(2) Blind
(3) Physically disabled
(4) None of these

180. E-SAGU & ®ikeseR ek qiimn da a1 T¥9 Hivre ! TR s T2 7
(1) wft
(2) =
(3) g
(4) WD
E-SAGU developed by Media Asia Lab is for
(1) Agriculture
(2) Health care
(3) Education

(4) Entertainment

HTEAT HATETS! AWTT/SPACE FOR ROUGH WORK
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181. UTCA—aR @ Gigeasn i wfim ofa a1 el SHive smEd! fasiia se o 2
(1) ot et Tl a7
(2) 3wy
3 3
(4) TR TR T |
POLYSENSOR software developed by Media Asia Lab is for
(1) Water quality measurement instruments
(2) Drugs
(3) Milk
(4) None of the above

182. 'E-SAGU' 91 GiteaRe R JERR iVl IH1 WTed Frer ?

(1) 2007 (2) 2005
(3) 2004 (4) 2001
'E-SAGU' Software of Media Asia L.ab got Manthan award in
(1) 2007 (2) 2005
(3) 2004 4) 2001

183. »ff. wsfia <het o frdien wfimn o wefler YT gaT YN QWS e UTH T 7
(1) <M 2003 (2) u™ 2004 (3) g, 2011 (4) I ArE
When was Shri Manjit Chaudhari a research scientist of Media Asia Lab awarded
young scientist award ?
(1) Jan. 2003 (2) Mar. 2004 (3) Feb. 2011 (49) None of these

184, YiaH! e B HIvedT HHMTE] aToard ?
(1) IrREra a0 IR TV OIS
(2) FA™EA 99 ISEETE! heiel! 7Ol TR
(3) FeTEA STy fWesfvaad Fadl quft Y= favaad

(49) TCP/IP gfavarand

A proxy server is used for which of the following ?
(1) To provide security against unauthorized users
(2) To provide client request for web pages

(3) To provide client request for database access
(4) To provide TCP/IP

THEeTT RINTHTS! ATTT/SPACE FOR ROUGH WORK
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185. HTTP < qui ¥4 %™ 1R 7

(1) hyper text transfer protocol

45 SRM

(2) home text transfer procedure

(3) hyper text transfer procedure (4) IRt THE TTE

HTTP stands for

(1) hyper text transfer protocol

(2) home text transfer procedure

(3) hyper text trans_fer procedure (4) none of these

186. deETse I 99 YSTE ThHd TTE 1 TeUrdid 7

(1) URL (2) HTTP

(3) Browser 4) 39

The unique address of web page on website is called as

(1) URL (2) HTTP

(3) Browser (4) E-mail

187. 9T WHeA3N gR ATETEZ ALY Ja¥ FH&A HIfge] IeeT A9 w918 H TS 7

(1) @R (2) TP

(3) wLWR 4 WWW

The software used to navigate through the web is known as

(1) Server (2) Browser

(3) Internet (4) WWW

188. ISDN = faearid &q

(1) Integrated Service Digital Network
(2) Internet Service Digital Network

(3) International Service Digital Network

(4) IR TR
ISDN stands for

(1) Integrated Service Digital Network
(2) Internet Service Digital Network
(3) International Service Digital Network

(4) None of these

189. DSL = faria &9
1) fesien weermer a8
(3) Tesfiew aivedam s
DSL stands for

(1) Digital Subscriber Line
(3) Digital Software Layer

2) fesfea faue aEa
(4) ITYHY T AT

(2) Digital Signal Line
(4) None of these

HTTHT HIAETE! ANTT/SPACE FOR ROUGH WORK
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190. FTP < fawarlid &u

(1) File Transfer Protocol (2) Fully Transfer Protocol
(3) Filter Transfer Protocol (4) File Transfer Procedure
FTP stands for o

(1) File Transfer Protocol (2) Fully Transfer Protocol
(3) Filter Transfer Protocol (4) File Transfer Procedure

191. JsETEe F YT IS FF FEUH SEArd ?

(1) v O (2) a9 U

(3) AT IS (4) aTYhY e AT
The first page of any website is called

(1) First page (2) Home page

(3) Web page (49) None of the above

192. 3 dersa1 Yeliel URY 1 TevrEd ¢

(1) 3==<e nafem | (2) wH
(3) v (4) amhT TR AT
The next step of e-mail is
(1) Instant messaging (2) SPAM
(3) JUNK (4) None of these
193. == oE ved i Bvangd] Amae auemHie faseE agvll, ared 0 a1 hRE s
TRUrard ¢
(1) waim (2) = (3) @i (4) I TS T

Observing, reading communication message between different members before
joining discussion group is called

(1) Messaging (2) Lurking (3) Surfing (4) None of the above

194. wifedi=h 2amor o g4 w3f e ar gdi=a e wr RuEE ?

1) WrewrE @) Frm

(3) §=eTR (4) ey

Code of behaviour for sending and receiving information is called as
(1) Protocol (2) Rules

(3) Internet (4) Nodes

HESHT HIATATS! WRTT/SPACE FOR ROUGH WORK
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195. 30 Hed Sieaicln vk IS I, @ TEUTTA.
(1) 3eERE Teihid (2) URL
(3) WWW (4) SR UHal A1
The address for computer on internet is called as
(1) Internet protocol (2) URL
3) WWW | (4) None of the above
196. VRN Jeaeh WA Td AISHeT TUH RR 1GATd ?
(1) Peer to Peer (2) Hierarchical
(3) Internet (4) IF! Uehal ARl
In which type of network nodes have equal rights ?
(1) Peer to Peer (2) Hierarchical
(3) Internet (4) None of these
197. HeNTETR GRS twfon fawin o,
(1) T Q) = (3) firam (4) Fgadl
MacOSX-serveris____ operating system.
(1) Network (2) Disk (3) Mixed (4) Personal
198. TN arsfavargef fiet geReaTd TaTE HOATT Ad, I JHSAH H AT 7
1) ke 2) foe (3) e (1) T
Before sending message, it is converted in to small picces, they are called as
(1) Packets (2) Bit (3) Byte (4) Nibble
199. wrfideat Faerean 1ol fiesieiedt § Hoger % T 7
(1) ©Hq (2) He (3) <k (4) IhT TRl A
Unsolicited e-mails arc called as
(1) SPAM (2) SENT (3) LURK (4) None of these
200. 'Gnutella' 8 T Jeaeh TS HEd ITHRATd ?

(1) <hfa @) T 3 T
(3) T /TeRT (4) . . =i,
In which network strategy is 'Gnutella' used ?

(1) Terminal (2) Peer to Peer
(3) Client/Server (4) NIC

HEHT HIATETST ATRTT/SPACE FOR ROUGH WORK
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AT — (31 T IR.....)

(8) wyfaiael fafed e fafire snfa oea om (T6 98 ) F0d. weAgfReheataied satafbsat
T S FHTTETR Hedl HTH hedTd A H FOIT IIW Fel AR, 3@ T e T ATTAR
INGERTER A S et * el o= Wi Wiosiy sroaremsds arfufm-g82”
T RGSITER FHETE H0ATT IS F QY efel| ShHTed Weh ST HRIaTHT=1 1001 / fohal T2
T g Thived] dgr=t ey um gide.

(9) TR ywutRaEt A fafeq woef de AucaHa Steaen € g =a: sl
THTRETETRN U T0ITH WA SR, FTH TR FTaTet FAToaTge] IHGaRM STaea
ITUTRAT WRT - 1 TRAETRTHRS 7 A oHa 0 HATavas AR,

?gmm
T. %. 201, T 916 5 FHOAIR! vl HeTd: T e ?
(1) @ T aadl (2) $vaae foremEmR
(3) TSI THATEA U (4) MISFWT g

T I A1 I (3) Tl YHHIEA T 378 TR, e41ge 91 WA I (3)) st ameaa
TIHTATHT 3. F. 201 T SW-F0% Q)" ? aga v swifed wea qrafon
HEEF AR,

3%.20l. @ @ @ @

I TG TG g fEaahdiel Yedish YeTE qH ItehHTeh 81 RRTa wasdical aden
ITWBhalie Q1 1 YEAFUTHETHIE Haitid ades quiatt Srffehd s IRaaTan. gTeRfeat
Therd hTeodT IS STeTa dT9Td, Af-et a1 vImgs U aTass .
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